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L Determme the probablhty of getting exactly 5 heads when you flip a coin 8 times.
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2. Determine the probability of getting a six exactly four times when you roll a die twelve times. Round your
answer to five decimal places. 1z -4
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3. Determine the probability of getting a six at least once when you roll a die twelve times. Round your answer
to five decimal places.
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\\ﬂf’TDetermme the probability of getting a six no more than three times when you roll a Q‘;_g twelve times. Round
your answer to five demmal places.
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@A basketball player has a free throw average of 78%. Assummg that the probability of making a free throw

does not change during the course of a game, find the probability that the player makes at | ix of the
elght free throws attempted during the game. Round your answer to three decimal places. Gy7,0v 8
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6. A goalkeeper for a soccer team has a probability of stopping a penalty kick with a probability of 0.1.
Assume that a game has gone to penalty kicks (which happens if the game requires a winner and is still tied
after two overtime periods). Five penalty kicks are taken.

md the probability that the goalkeeper saves none of the penalty kicks. lee the exact answer. Sl
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: ‘b) Find the probability that the goalkeeper saves one of the penalty kicks. lee the exact answer.
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c) Find the probability that the goalkeeper saves two of the penalty kicks. Give the exact answer.
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d) Find the probability that the goalkeeper saves three of the penalty kicks. Give the exact answer.
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@md the probability that the goalkeeper saves four of the penalty kicks. Give the exact answer.
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f) Find the probability that .the goalkeeper saves all five of the penalty kicks. Give the exact answer.
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g) Find the expected number of penalty kicks that the goalkeeper will save. Give the ?x)act answer.
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